PA Benchmark Assessment #3 Study Guide



June 2012
Ms. Catullo and Mr. Lloyd





Name _____________________________



1a.  
This table shows a relation between x and y.  Write an equation that shows the same relation.
	X
	-1
	-2
	-3
	-4
	-5

	Y
	14
	10
	6
	2
	-2



y = _____________________________

1b.  
This table shows a relation between x and y.  Write an equation that shows the same relation.
	X
	-2
	0
	2
	4
	6

	Y
	7
	5
	3
	1
	-1



y = _____________________________

2a.  
Graph the equation y = 3x – 2



2b.     Graph the equation 
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3a. 
Find the slope between the following points. 

( 2, 4 ) and ( 5, 8 )

3b.  
Find the slope between the following points.

( 10, -3 ) and ( 12, 8 )

4a.  
Write the equation of the line. 


4b.   Write the equation of the line.


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	









y= ____________________



y= ____________________

5a. 
Write the equation of the line that has a slope of 
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and y-intercept of 3. 






y= ____________________

5b. 
Write the equation of the line that has a slope of -5 and y-intercept of 0.






y= ____________________

6a.
Find the next term in the following pattern.


231, 208, 185, _______

6b. 
Find the next two terms in the following pattern.

-21, -17, -13, -9, ______, _______
7a.  
At GoMusicNow.com, I can download 25 songs for $2.00.  At that rate, how much should it cost to 
download 125 songs?  Remember to round to the nearest penny. 

7b. 
The scale of a map is 1 inch = 33 miles. If there are 3 inches between Hellertown, PA and Ocean City, NJ 
on a map, how many miles apart are they?

8a. 
 Simplify .
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8b.  
Simplify . 
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8c..  
Simplify. 
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9a.
Amy bought a skirt for $40. This included a 20% discount. What was the original price of the skirt? 


9b. 
Julia went to DiMaio’s and spent $20 on lunch. If she wants to leave a 20% tip, how much will her total 
bill be?

10a.  
Find the missing side length.



10b. Do the following lengths form a right triangle?









         Show all work to support your answer.


















        

 6 in, 8 in, 11 in


11a.  In the diagram below, what is the 
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11b.
In the diagram below, 










m<A = _____, m<B = _____, m<C = ____

Directions: For #12- 15, simplify completely.
12a. 
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12b.    
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12c.   
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12d.   
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12e.  
[image: image11.wmf])

4

(

9

-

×

-


13a. 
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13b.  
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13c. 
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13d.  
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13e.  
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14a.  
[image: image17.wmf])

4

(

2

3

6

2

2

)

1

5

(

3

2

-

+

+

-

¸

+

-

-

+

-





14b.  
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15a.  
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15b.  
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16a. 
Solve. 


[image: image21.wmf]21

9

2

=

-

x






16b. 
Solve. 
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16c. 
Solve. 
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16d. 
Solve.
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